
x1

x1
x4 x3 x4

x1

VESA Compatible Desk Mount with 360-Degree Rotation
for PAD-UGT & HSKSB (White)

ADD-USGTWP
INSTALLATION - MANUAL

1. ASSEMBLING BASE TO BODY

1A - ALIGN HOLES AT THE BASE (B) WITH THE HOLES ON 
THE BASE OF THE BODY(A). ROTATE IN SCREWS (D) WITH 
TOOL PROVIDED (H) UNTIL SECURELY TIGHTENED. 

2A - IDENTIFY THE HOLE AT THE 
BOTTOM OF THE BASE WHERE 
CABLE ROUTING SHOULD BEGIN

2. SETTING UP CABLE ROUTING

A B C D E

F H

x3

G

x3

M5 x 12 M5 x 8 M5 Nut

M5 Allen Key

x3
D

M5 x 8

H

M5 Allen Key

A

B

2B - FISH THE CORD 
FROM THE BASE, 
THROUGH THE BODY 
AND OUT THE TOP 
OPENING AS SHOWN

2C - TAKE THE CORD AT 
THE BASE AND ROUTE IT 
OUT THROUGH THE 
OPENING IN THE BASE 
FOR A SMOOTH EVEN 
PLACEMENT ON THE 
SURFACE



3. (OPTIONAL)  FASTEN TO CREATE A FIXED SETUP

(OPTIONAL) MOUNTING TO SURFACE TOP

ATTACHING A VESA COMPATIBLE OBJECT 

3A - USING PROVIDED 
TOOL (H), ROTATE 
CLOCKWISE AT THE 
SHOWN LOCATION ON 
KIOSK BODY TO CREATE 
A LOCKED FIXED SETUP. 
ROTATE UNTIL SECURELY 
TIGHTENED 

H

4A - USING A SCREW-
DRIVER (NOT INCLUDED), 
ROTATE IN SCREWS (F) 
WITH ANCHORS (G) UNTIL 
SECURELY BOLTED INTO 
SURFACE TOP

**SCREWDRIVER FOR 
ILLUSTRATION PURPOSES 
AND NOT INCLUDED

F
G

**ENCLOSURES ARE FOR 
ILLUSTRATION PURPOSES 
AND NOT INCLUDED

C

E

x4
M5 x 12

M5 Nut

5A - ALIGN ENCLOSURE VESA HOLES TO THE KIOSK BODY VESA PLATE HOLES. USING PROVIDED 
TOOL (H), ROTATE IN SCREWS (C) FROM ABOVE WHILE HOLDING HEX NUT (E) FROM BEHIND WITH 
YOUR HANDS. ROTATE UNTIL SECURELY TIGHTENED.

H


